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Warm-up
What is the shape of the cross section of each

Volume

Right Prism: V = Bh %'”é“o;i@

Cylinder: V= mtr?h
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9in.

5in.
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For Your
Cavalieri’s Principle FoLDABLE

Words  If two solids have the same height h and the same cross-sectional area
B ery level, then they have the same volume.

r
)

Key Concept

@, X vJ)\'\ These prisms all have a volume of Bh.

N
R = 12T
¢

Prisms A and B have the same length and width, but different heights. If the
volume of Prism B is 150 cubic inches greater than the volume of Prism A,

what is the length of each prism?
10in.
7in.
4in, 4in.

Prism A Prism B
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Assignment:

pg 851 12 - 36 by 3's, 53, 54 & 55
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